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0000000 The main/important point/conclusion/reason(]
The pointtonotehered OO OO OOOOOOO Thereare
three major reasons] butld howeverl DO O OO OO OO0 O
00O 000O0OO The rising birth rate is not due to increased
fertility, but to a sharp declineinthedeathrate. 0 OO OO 0O O O
J000000o0o0ooo0ooooooonooondwhy
Is a piped water supply so important? Disease due to contam inated
water is a common cause of death in childhood. O U 0O OO O 0O O [
Jododoboooooodobooouooouoooooa
[0 O 0O O Death control can be achieved autonomously. In other
words, the death rate can be cut without anything else changing. [
J0o0dooooooodoooooooooooooa
OO0 000" OO0 00O Therefore the resultl] In conclusion
we can concludel] One of the primary conclusions] [ [0 [ [0 [
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000000000 Forexample/instance likeld Such as these
included Toillustrateamongthesearel] OO OO OO OO OO
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[ O Themainreason for(CJ O O O O O O O O )there duction in
the death rate in the developing world has been improved public



health measures. Forexample,(U O O O OO0 0000 OO OO
OO00000000O 0O O )in SriLanka the death rate was halved
over ten years by spraying the mosquitoes which carry malaria. Why
(UO0U0O000o00ooodoOoUoodnd)sitsoeasy to cut
the death rate in this way and yet so hard to reduce the birth rate?
Oneanswer(U O U O OOUOO0OOUODOOOOOOOOOO
[1)is that public health measures can be very cheap. Anti-malarial
spraying Is inexpensive. But this is not the important point(L] [
Obutd O0OO0OOOOOOO). For birth control programmers
to be successful, a change in attitude is required, where as death
control can be achieved autonomously. In other words,(J [ I [
OO0000000000 0O O )the death rate can be cut without
anythingelse changing. TIPSO O 0O O 0O O OO O O Time flies.[d
0000 Onetwotomorrows.J O OO O0OOOOOO When
an opportunity is neglected, it never comes back to you.l 1 [0 [ [
OO0 00O Strike while the ironis hot.J O O O O Wisdom is
more to be envied thanriches..] 0 O O O 0O O O O O Itisgood to
learn at another man’ scost.[] [J [ O O Seeing is believing. [
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